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This Question Paper consists of 34 questions and 8 printed pages.

ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ 34 ¬˝‡Ÿ ÃÕÊ 8 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥ –
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ECONOMICS

(•Õ¸‡ÊÊSòÊ)
(214)

Day and Date of Examination

¬⁄UËˇÊÊ ∑§Ê ÁŒŸ fl ÁŒŸÊ¥∑§

Signature of Invigilators 1. 

ÁŸ⁄UËˇÊ∑§Ê¥ ∑§ „SÃÊˇÊ⁄U
2. 

General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

4. All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

6. Write your Question Paper code No. 55/OS/2-A on the Answer-Book.

7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.

Set A
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‚Ê◊Êãÿ •ŸÈŒ‡Ê —

1. ¬⁄UËˇÊÊÕË¸ ¬˝‡Ÿ¬òÊ ∑§ §¬„‹ ¬Îc∆U ¬⁄U •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •fl‡ÿU Á‹π¥–

2 . ∑Î§¬ÿÊ ¬˝‡Ÿ¬òÊ ∑§Ê ¡ÊÚ°ø ‹¥ Á∑§ ¬˝‡Ÿ¬òÊ ∑§ ∑È§‹ ¬Îc∆UÊ¥ ÃÕÊ ¬˝‡ŸÊ¥ ∑§Ë ©ÃŸË „Ë ‚¥ÅUÿÊ „Ò Á¡ÃŸË ¬˝Õ◊ ¬Îc∆ ∑ §‚’‚
™§¬⁄U ¿U¬Ë „Ò– ß‚ ’ÊÃ ∑§Ë ¡ÊÚ°ø ÷Ë ∑§⁄U ‹¥ Á∑§ ¬˝‡Ÿ ∑˝ Á◊∑§ UM§¬ ◊¥ „Ò¥–

3. flSÃÈÁŸc∆U ¬˝‡ŸÊ¥ ◊¥ •Ê¬∑§Ê øÊ⁄U Áfl∑§À¬Ê¥ (A), (B), (C) ÃÕÊ (D) ◊¥ ‚ ∑§Êß¸ ∞∑§ ©ûÊ⁄ øÈŸŸÊ „Ò ÃÕÊ ŒË ªß¸
©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ◊¥ •Ê¬ ‚„Ë ©ûÊ⁄ Á‹Áπ∞–U

4. flSÃÈÁŸc∆U ¬˝‡ŸÊ¥ ∑§ ‚ÊÕ-‚ÊÕ ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄ ÁŸœÊ¸Á⁄UÃ •flÁœ ∑  ÷ËÃ⁄U „Ë ŒŸ „Ò¥– flSÃÈÁŸc∆U ¬˝‡ŸÊ¥ ∑§ Á‹∞§•‹ª
‚ ‚◊ÿ Ÿ„Ë¥ ÁŒÿÊ ¡Ê∞ªÊ–

5. § ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ◊¥ ¬„øÊŸ-Áøq ’ŸÊŸ •ÕflÊ ÁŸÁŒ¸c≈U SÕÊŸÊ¥  ∑§§ •ÁÃÁ⁄UÄÃ ∑§„Ë¥ ÷Ë •ŸÈ∑˝§◊Ê¥∑§ Á‹πŸ ¬⁄U ¬⁄UËˇÊÊÕË¸
∑§Ê •ÿÊÇÿ ∆U„⁄UÊÿÊ ¡ÊÿªÊ–

6. •¬ŸË ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ¬⁄U ¬˝‡Ÿ¬òÊ ∑§Ë ∑§Ê«U ‚¥ÅÿÊ 55/OS/2-A  Á‹π¥–

7. (∑§) ¬˝‡Ÿ¬òÊ ∑§fl‹ Á„¥ŒË/•¥ª˝¡Ë ◊¥ „Ò–  Á»§⁄U ÷Ë, ÿÁŒ •Ê¬ øÊ„¥ ÃÊ ŸËø ŒË ªß¸ Á∑§‚Ë ∞∑§ ÷Ê·Ê ◊¥ ©ûÊ⁄ Œ ‚∑§Ã
„Ò¥ —

•¥ª˝¡Ë, Á„¥ŒË, ©ŒÍ¸, ¬¥¡Ê’Ë, ’°ª‹Ê, ÃÁ◊‹, ◊‹ÿÊ‹◊, ∑§ãŸ«∏, Ã‹ÈªÈ, ◊⁄UÊ∆UË, ©Á«∏ÿÊ, ªÈ¡⁄UÊÃË, ∑§Ê¥∑§áÊË,
◊ÁáÊ¬È⁄UË, •‚Á◊ÿÊ, Ÿ¬Ê‹Ë, ∑§‡◊Ë⁄UË, ‚¥S∑Î§Ã§•ÊÒ⁄U Á‚¥œË–

∑Î§¬ÿÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŒ∞ ª∞ ’ÊÚÄ‚ ◊¥ Á‹π¥ Á∑§ •Ê¬ Á∑§‚ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹π ⁄U„ „Ò¥–   §

(π) ÿÁŒ •Ê¬ Á„¥ŒË ∞fl¥ •¥ª˝¡Ë ∑§ •ÁÃÁ⁄UÄÃ Á∑§‚Ë •ãÿ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹πÃ „Ò¥ ÃÊ ¬˝‡Ÿ ∑§Ê ‚◊¤ÊŸ ◊¥ „ÊŸ flÊ‹Ë
òÊÈÁ≈UÿÊ¥/ª‹ÁÃÿÊ¥ ∑§Ë Á¡ê◊UŒÊ⁄Ë ∑ fl‹ •Ê¬∑§Ë „ÊªË–
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ECONOMICS

(•Õ¸‡ÊÊSòÊ)
(214)

Time : 3 Hours ] [ Maximum Marks : 100

‚◊ÿ — 3 ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 100

Note : (1) All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate.  Select the correct answer
and write it in your answer-book against the number of question.

ÁŸŒ¸‡Ê — (1) ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(2) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ •¥∑§ ©‚∑§ ‚Ê◊Ÿ Œ‡ÊÊ¸ÿ ªÿ „Ò¥–

(3) flSÃÈÁŸc∆U ¬˝‡Ÿ ∑˝§◊Ê¥∑§ 1 ‚ 8 Ã∑§, ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ øÊ⁄U flÒ∑§ÁÀ¬∑§ ©ûÊ⁄U (A), (B), (C)

•ÊÒ⁄U (D) ÁŒÿ ªÿ „Ò¥ Á¡Ÿ◊¥ ‚ ∞∑§ ‚„Ë ÿÊ ‚flÊ¸Áœ∑§ ©ÁøÃ „Ò–  ‚„Ë ©ûÊ⁄U øÈÁŸÿ ÃÕÊ •¬ŸË
©ûÊ⁄U-¬ÈÈÁSÃ∑§Ê ◊¥ ©‚ ¬˝‡Ÿ ∑˝§◊Ê¥∑§ ∑§ ‚Ê◊Ÿ Á‹Áπÿ–

1. In the late 20th century economics is treated as : 1
(A) Science of welfare
(B) Science of scarcity and choice
(C) Science of growth and development
(D) Science of sustainable development

’Ë‚flË¥ ‡ÊÃÊéŒË ∑§ •¥Ã ◊¥ •Õ¸‡ÊÊSòÊ ∑§Ê ∑§„Ê ¡ÊÃÊ „Ò —
(A) ∑§ÀÿÊáÊ ∑§Ê ÁflôÊÊŸ
(B) ŒÈ‹¸÷ÃÊ ÃÕÊ øÿŸ ∑§Ê ÁflôÊÊŸ
(C) ‚¥flÎÁh ÃÕÊ Áfl∑§Ê‚ ∑§Ê ÁflôÊÊŸ
(D) œÊ⁄UáÊËÿ Áfl∑§Ê‚ ∑§Ê ÁflôÊÊŸ

2. Which of the following is a feature of a capitalist economy ? 1
(A) Consumer’s Sovereignity prevails
(B) Collective ownership of means of production
(C) Reduction in inequalities of income and wealth
(D) Co-existence of public and private sectors

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ë ¬Í°¡ËflÊŒË •Õ¸√ÿflSÕÊ ∑§Ë ∞∑§ Áfl‡Ê·ÃÊ „Ò?
(A) ©¬÷ÊÄÃÊ ¬˝÷Èàfl „ÊÃÊ „Ò
(B) ©à¬ÊŒŸ ∑§ ‚ÊœŸÊ¥ ∑§Ê ‚Ê◊ÍÁ„∑§ SflÊÁ◊àfl
(C) •Êÿ •ÊÒ⁄U ‚ê¬ÁûÊ ∑§Ë Áfl·◊ÃÊ•Ê¥ ◊¥ ∑§◊Ë
(D) ‚Êfl¸¡ÁŸ∑§ ÃÕÊ ÁŸ¡Ë ˇÊòÊ∑§Ê¥ ∑§Ê ‚„•ÁSÃàfl
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3. Problem of Allocation of Resources deals with : 1

(A) What goods and services shall be produced ?

(B) How shall goods and services be produced ?

(C) For whom shall goods and services be produced ?

(D) All the above

‚¥‚ÊœŸÊ¥ ∑§ •Ê’¥≈UŸ ∑§Ë ‚◊SÿÊ ß‚ ’Ê⁄U ◊¥ ’ÊÃ ∑§⁄UÃË „Ò —

(A) Á∑§Ÿ flSÃÈ•Ê¥ •ÊÒ⁄U ‚flÊ•Ê¥ ∑§Ê ©à¬ÊŒŸ Á∑§ÿÊ ¡Ê∞ªÊ?

(B) flSÃÈ•Ê¥ •ÊÒ⁄U ‚flÊ•Ê¥ ∑§Ê ©à¬ÊŒŸ ∑Ò§‚ Á∑§ÿÊ ¡Ê∞ªÊ?

(C) flSÃÈ•Ê¥ •ÊÒ⁄U ‚flÊ•Ê¥ ∑§Ê ©à¬ÊŒŸ Á∑§‚∑§ Á‹ÿ Á∑§ÿÊ ¡Ê∞ªÊ?

(D) ©¬ÿÈ¸ÄÃ ‚÷Ë

4. Maximum number of persons who can own partnership production units, is : 1

(A) 10 (B) 20 (C) 30 (D) 40

√ÿÁÄÃÿÊ¥ ∑§Ë •Áœ∑§Ã◊ ‚¥ÅÿÊ Á¡Ÿ∑§ SflÊÁ◊àfl ◊¥ ‚Ê¤ÊŒÊ⁄UË ©à¬ÊŒŸ ß∑§Êß¸ „Ê ‚∑§ÃË „Ò, „ÊÃË „Ò —
(A) 10 (B) 20 (C) 30 (D) 40

5. Which is an example of ‘Collaboration’ ? 1

(A) Johnson and Johnson (B) Airtel

(C) Maruti-Suzuki Ltd. (D) Life Insurance Corporation

ßŸ◊¥ ‚ ÁflŒ‡ÊË ‚„ÿÊª ∑§Ê ©ŒÊ„⁄UáÊ „Ò —

(A) ¡ÊŸ‚Ÿ ∞á«U ¡ÊŸ‚Ÿ (B) ∞ÿ⁄U≈ÒU‹

(C) ◊ÊL§ÁÃ-‚È¡È∑§Ë Á‹. (D) ¡ËflŸ ’Ë◊Ê ÁŸª◊

6. The goods whose demand decreases when the income of the buyer increases are :

(A) Inferior goods (B) Normal goods

(C) Substitute goods (D) Complementary goods

fl flSÃÈ∞¥ Á¡Ÿ∑§Ë ◊Ê¥ª ©¬÷ÊÄÃÊ ∑§Ë •Êÿ ’…∏Ÿ ¬⁄U ÉÊ≈UÃË „Ò, „ÊÃË „Ò —

(A) ÁŸ∑Î§c≈U flSÃÈ∞¥ (B) ‚Ê◊Êãÿ flSÃÈ∞¥

(C) SÕÊŸÊ¬ÛÊ flSÃÈ∞¥ (D) ¬Í⁄U∑§ flSÃÈ∞¥

7. Variable having a specific value, is called : 1

(A) Attribute (B) Continuous variable

(C) Discrete variable (D) None of the above

∞‚Ê ø⁄U Á¡‚∑§Ê ∞∑§ ÁflÁ‡Êc≈U ◊ÍÀÿ „ÊÃÊ „Ò, ∑§„‹ÊÃÊ „Ò —

(A) ªÈáÊ (B) •ÁflÁë¿UÛÊ ø⁄U

(C) ÁflÁë¿UÛÊ ø⁄U (D) ©¬ÿ¸ÈÄÃ ◊¥ ∑§Êß¸ Ÿ„Ë¥

1
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2

2

2

2

8. Act which provides a consumer all the support and guidance is called : 1

(A) Standard of Weights and Measures Act, 1976

(B) Prevention of Food Adulteration Act, 1954

(C) Essential Commodities Act, 1955

(D) Consumer Protection Act, 1986

fl„ •ÁœÁŸÿ◊ ¡Ê ©¬÷ÊÄÃÊ ∑§Ë ¬Í⁄UË ‚„ÊÿÃÊ ÃÕÊ ◊Êª¸ Œ‡Ê¸Ÿ ∑§⁄UÃÊ „Ò, ∑§„‹ÊÃÊ „Ò —

(A) ÷Ê⁄U •ÊÒ⁄U ◊Ê¬ ◊Ê¬∑§ •ÁœÁŸÿ◊, 1976

(B) πÊl ¬ŒÊÕ¸ Á◊‹Êfl≈U ÁŸ⁄UÊœ∑§ •ÁœÁŸÿ◊, 1954

(C) •ÁŸflÊÿ¸ flSÃÈ •ÁœÁŸÿ◊, 1955

(D) ©¬÷ÊÄÃÊ ‚¥⁄UˇÊáÊ •ÁœÁŸÿ◊, 1986

9. On the basis of your daily life experience give two examples of public goods being used
by you.

•¬Ÿ ŒÒÁŸ∑§ ¡ËflŸ ∑§ •ŸÈ÷fl ∑§ •ÊœÊ⁄U ¬⁄U •Ê¬∑§ mÊ⁄UÊ ¬˝ÿÊª ∑§Ë ¡ÊŸ flÊ‹Ë ŒÊ ‚Êfl¸¡ÁŸ∑§ flSÃÈ•Ê¥ ∑§
©ŒÊ„⁄UáÊ ŒËÁ¡∞–

10. What is meant by a developed economy and a developing economy ?

Áfl∑§Á‚Ã •Õ¸√ÿflSÕÊ ÃÕÊ Áfl∑§Ê‚‡ÊË‹ •Õ¸√ÿflSÕÊ ‚ ÄÿÊ •Á÷¬˝Êÿ „Ò?

11. Explain ‘product based’ division of labour.

“©à¬ÊŒ •ÊœÊÁ⁄UÃ” üÊ◊ Áfl÷Ê¡Ÿ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

12. Complete the following table :

Units of Labour Total Product Average Product Marginal Product

1 10 - 10

2 30 15 -

3 54 - 24

4 - 21 30

ÁŸêŸÁ‹ÁπÃ ‚Ê⁄UáÊË ∑§Ê ¬Í⁄UÊ ∑§ËÁ¡∞ —

üÊ◊ ∑§Ë ß∑§ÊßÿÊ¥ ∑È§‹ ©à¬ÊŒ •ÊÒ‚Ã ©à¬ÊŒ ‚Ë◊ÊãÃ ©à¬ÊŒ
1 10 - 10

2 30 15 -

3 54 - 24

4 - 21 30

13. Explain how does the change in Government’s policy affect the supply of a good.

‚⁄U∑§Ê⁄UË ŸËÁÃ ◊¥ ¬Á⁄UflÃ¸Ÿ Á∑§‚Ë flSÃÈ ∑§Ë •Ê¬ÍÁÃ¸ ∑§Ê ∑Ò§‚ ¬˝÷ÊÁflÃ ∑§⁄UÃÊ „Ò?  ‚◊¤ÊÊßÿ–
2
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2

4

2

4

14. Draw a demand curve with the help of the data given below :

Price of oranges (`) Quantity demanded of oranges

2 10

4 8

6 6

8 4

ÁŸêŸÁ‹ÁπÃ •Ê¥∑§«∏Ê¥ ∑§Ë ‚„ÊÿÃÊ ‚ ◊Ê¥ª fl∑˝§ ’ŸÊßÿ —

‚¥Ã⁄UÊ¥ ∑§Ë Á∑§◊Ã (`) ‚¥Ã⁄Ê¥ ∑§Ë ◊Ê¥ªË ªß ̧◊ÊòÊÊ
2 10

4 8

6 6

8 4

15. Explain the problem of ‘double coincidence of wants’ faced with the barter system of
exchange.

flSÃÈ-ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ∑§Ë “•Êfl‡ÿ∑§ÃÊ•Ê¥ ∑§ ŒÊ„⁄U ‚¥ÿÊª ∑§Ë ∑§◊Ë” ∑§Ë ‚◊SÿÊ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

16. Explain how primary data are collected with the help of ‘Indirect investigation method’.

“•¬˝àÿˇÊ •ŸÈ‚¥œÊŸ ÁflÁœ” mÊ⁄UÊ ¬˝ÊÕÁ◊∑§ •Ê¥∑§«∏Ê¥ ∑§Ê ‚¥∑§‹Ÿ Á∑§‚ ¬˝∑§Ê⁄U Á∑§ÿÊ ¡ÊÃÊ „Ò?  ‚◊¤ÊÊßÿ–

17. Give two causes of soil degradation.

÷ÍÁ◊ ∑§ ÁŸêŸË∑§⁄UáÊ ∑§ ŒÊ ∑§Ê⁄UáÊ ŒËÁ¡∞–

18. With the help of examples give two ways of becoming a “Green Consumer” in the
society.

‚◊Ê¡ ◊¥ „Á⁄UÃ ©¬÷ÊÄÃÊ „ÊŸ ∑§ Á‹ÿ ©ŒÊ„⁄UáÊ ∑§Ë ‚„ÊÿÃÊ ‚ ∑§Êß¸ ŒÊ Ã⁄UË∑§ ŒËÁ¡∞–

19. What role does Macroeconomics play in the decision making by the government ?

‚⁄U∑§Ê⁄U mÊ⁄UÊ ÁŸáÊ¸ÿ ‹Ÿ ◊¥ ‚◊Ác≈U •Õ¸‡ÊÊSòÊ ∑§Ë ÄÿÊ ÷ÍÁ◊∑§Ê „ÊÃË „Ò?

20. Explain the problem of ‘allocation of resources’ in a mixed economy.

Á◊ÁüÊÃ •Õ¸√ÿflSÕÊ ◊¥ “‚¥‚ÊœŸÊ¥ ∑§ •Ê’¥≈UŸ” ∑§Ë ‚◊SÿÊ ∑§Ê ‚◊¤ÊÊßÿ–

21. Explain the role and importance of firms and industries in providing employment and
infrastructure for the development of the country.

Œ‡Ê ◊¥ ⁄UÊ¡ªÊ⁄U ©¬‹éœ ∑§⁄UÊŸ ÃÕÊ •ÊœÊÁ⁄U∑§ ‚¥⁄UøŸÊ ∑§ Áfl∑§Ê‚ ◊¥ »§◊¸ ÃÕÊ ©lÊªÊ¥ ∑§Ë ÷ÍÁ◊∑§Ê ÃÕÊ ◊„àfl ∑§Ë
√ÿÊÅÿÊ ∑§ËÁ¡∞–

2

2

2

4
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4

4

22. What is meant by substitute goods and complementary goods ?  Give one example of
each.

SÕÊŸÊ¬ÛÊ flSÃÈ∞¥ ÃÕÊ ¬Í⁄U∑§ flSÃÈ•Ê¥ ‚ ÄÿÊ •Á÷¬˝Êÿ „Ò?  ¬˝àÿ∑§ ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ ŒËÁ¡∞–

23. Explain money as ‘a medium of exchange’ and ‘a measure of value.’

“ÁflÁŸ◊ÿ ∑§ ◊Êäÿ◊” ÃÕÊ “◊ÍÀÿ ∑§Ê ◊Ê¬Ÿ” ∑§ M§¬ ◊¥ ◊ÈŒ˝Ê ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

24. Suppose, you have to open a savings account in U Co Bank in your locality.  Explain
how will you do so ?

◊ÊŸ ‹ËÁ¡ÿ, •Ê¬∑§Ê •¬Ÿ ß‹Ê∑§ ◊¥ ÿÍ ∑§Ê ’Ò¥∑§ ◊¥ ∞∑§ ’øÃ πÊÃÊ πÊ‹ŸÊ „Ò–  ‚◊¤ÊÊßÿ Á∑§ •Ê¬ ÿ πÊÃÊ
Á∑§‚ ¬˝∑§Ê⁄U πÊ‹¥ª?

25. What is meant by central tendency ?  Give two important precautions to be taken
while using arithmetic mean as a measure of central tendency.

∑§ãŒ˝Ëÿ ¬˝flÎÁûÊ ‚ ÄÿÊ •Á÷¬˝Êÿ „Ò?  ∑§ãŒ˝Ëÿ ¬˝flÎÁûÊ ∑§ ◊Ê¬ ∑§ M§¬ ◊¥ ‚◊ÊãÃ⁄U ◊Êäÿ ∑§Ë ¬˝ÿÊª Á∑§ÿ ¡ÊŸ ◊¥ ‹Ë
¡ÊŸ flÊ‹Ë ŒÊ ◊„àfl¬ÍáÊ¸ ‚ÊflœÊÁŸÿÊ¥ ŒËÁ¡ÿ–

26. Describe any two specific areas of economics where the use of data is very important.

•Õ¸‡ÊÊSòÊ ∑§ ∞‚ Á∑§ã„Ë¥ ŒÊ Áfl‡Ê· ˇÊòÊÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ ¡„Ê¥ •Ê¥∑§«∏Ê¥ ∑§Ê ¬˝ÿÊª •àÿ¥Ã ◊„àfl¬ÍáÊ¸ „Ò–

27. Calculate the arithmetic mean from the following data by the shortcut method :

X No. of Students

0 20

1 10

2 70

3 60

4 40

ÁŸêŸÁ‹ÁπÃ •Ê¥∑§«∏Ê¥ ‚ ‹ÉÊÈ ÁflÁœ mÊ⁄UÊ ‚◊ÊãÃ⁄U ◊Êäÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

X       ¿ÊòÊÊ¥ ∑§Ë 
0 20

1 10

2 70

3 60

4 40

4

4

4

4

‚¥ÅÿÊ
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28. Explain how the frequent occurrence of famines had been the worst part of the British
rule in India.

÷Ê⁄UÃ ◊¥ ’Ê⁄U-’Ê⁄U •∑§Ê‹ ¬«∏ŸÊ •¥ª˝¡Ë ‡ÊÊ‚Ÿ ∑§Ê ‚’‚ ’È⁄UÊ ‚◊ÿ ∑Ò§‚ ÕÊ?  √ÿÊÅÿÊ ∑§ËÁ¡∞–

29. Establish and explain the link between agriculture, industry and service sectors with
the help of a suitable example from real life.

flÊSÃÁfl∑§ ¡ËflŸ ‚ ∞∑§ ©¬ÿÈÄÃ ©ŒÊ„⁄UáÊ ∑§Ë ‚„ÊÿÃÊ ‚ ∑Î§Á·, ©lÊª ÃÕÊ ‚flÊ ˇÊòÊ∑§Ê¥ ∑§ ’Ëø ‚„’ãœŸ
SÕÊÁ¬Ã ∑§ËÁ¡∞–

30. Explain the ‘Consumer Redressal System’ in India.

÷Ê⁄UÃ ◊¥ “©¬÷ÊÄÃÊ ‚¥⁄UˇÊáÊ ¬hÁÃ” ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

31. Explain any four features of monopoly market.

∞∑§ÊÁœ∑§Ê⁄UË ’Ê¡Ê⁄U ∑§Ë Á∑§ã„Ë¥ øÊ⁄U Áfl‡Ê·ÃÊ•Ê¥ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

32. Give the factors that led to the decline of handicraft industry in India.

∞‚ ∑§Ê⁄U∑§ ’ÃÊßÿ Á¡Ÿ∑§ ∑§Ê⁄UáÊ ÷Ê⁄UÃ ◊¥ „SÃ∑§‹Ê ©lÊª ∑§Ê ¬ÃŸ „È•Ê–

33. Why did the government of India adopt five year plans to achieve development ?
Explain.

Áfl∑§Ê‚ ¬˝ÊåÃ ∑§⁄UŸ ∑§ Á‹ÿ ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U Ÿ ¬¥øfl·Ë¸ÿ ÿÊ¡ŸÊ•Ê¥ ∑§Ê ÄÿÊ¥ •¬ŸÊÿÊ?  √ÿÊÅÿÊ ∑§ËÁ¡∞–

34. Mention the various kinds of knowledge required on ‘Consumer Awareness’ by the
consumer.

©Ÿ ÁflÁ÷ÛÊ ¬˝∑§Ê⁄U ∑§Ë ¡ÊŸ∑§ÊÁ⁄UÿÊ¥ ∑§Ê ©À‹π ∑§ËÁ¡ÿ Á¡Ÿ∑§Ê ©¬÷ÊÄÃÊ ¡ÊªL§∑§ÃÊ ∑§ ’Ê⁄U ◊¥ ©¬÷ÊÄÃÊ ∑§Ê
„ÊŸÊ •Êfl‡ÿ∑§ „Ò–
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